1.

REtTFXE =8l ERERZDEE 01
0°<0<180° 2 LT, ROMWIZEZ K. (SHh308, Af1575308, B2 308, CH4is)

(1) cos@z%f“@%&%,sin@ R k.

@) sinﬁzéf“%éﬁg,cosﬁ ZRD K.
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2. 0°<60<180° & LT, ROMWIZEZ K. (SH308, A1730%, Bfk2730%, CHk4 )

(D cosH:%’GﬁéZg,sinﬁ ZRD K.

(2 sinﬁzgf‘%ékg,cosﬁ RS k.
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RETAE =Atk EZRCRZOER 01 BRERRES
0°<0<180° 2 LT, ROMWIZEZ K. (SHh308, Af1575308, B2 308, CH4is)
* sin?6 + cos?26 =1
CORZMZIE, sin , cos D—HHBbhroTVWEHE, 35— HE2RDBZILNTES
DB e =X, URICERT 3.

0°<6<90° = sinfd>0 2D cosfh>0
90° < <180° = sinf >0 DD cosh <0

€)) cos@:%’@%%t%,sin& RD k.

sin? 6 + cos20 = 1

= sin?0+ (2)° =1

= sin29+%:1

& sinzezl—%

& sin29:g

& sinﬂzié

0°<H<L180° TH B0 5, sinf =20
sin @ = %

2 siHG:%“C“%%K%,COSG ZRD XK.

sin? 6 4 cos? 6 = 1
(%)2—1—00520: 1
1 _

55 +cos’0 =1
cos?f=1— %

25
2, _ 24
cos*f = 5=

cosf = :I:2T\/6

R R

0°<O<L180° THA05, cosf I FAEYELDH 5.
i2§%

cos =
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2. 0°<O0<180° 2 LT, ROMWIZEZ K. (SH308, AR13308, B2 308, CHldasm)

(D cosﬁzéfﬁétg,sinﬁ ZRD K.

sin? 6 + cos20 = 1

= sin29+(%)2 =1
& sin29—|—é:1
& sin29:1—%
& sin29:%

& sin@zi%

0°< 0 <180° THB05,sinf =0
242
3

sin @ =

(2) sin@z%“@@%&%,cos@ R k.

sin? 6 + cos26 = 1

= (%)24—00529 =1
& %—1—00529:1
& cosPf=1- 2
& coszezé—g
& cosH::I:%
0°<O<L180° THA0 5, cosf ITIEAYrELDH 5.
4
cos O = :I:g
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